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' Note : All Questions dre compulsc‘)ryande‘ach question is of 1 mark.
(i) S st f s g @ Rafy & it s A 1
* Only English version is valid in case of difference in both the langudges.
3, 1. ST I & SR ¥ Example of integrating type
é (a) e Z”S““'A“fn“; is
f ’ ‘ ‘ a) Ammeter
i g:; mﬂ fre (b) Voltmeter
3 @ st (¢) Ohmmeter
@ (d) Energymeter
b2 meﬁﬂﬁﬁm%ﬁ InEddycunentdalhpmg,thedlsc
R T ? should be made of which metal ?
@) ww (@ Tron
(b) ' (b) Copper
() ey (©) Aluminium
@ or=A \ @ Tnngst#n\
3. wrl gw e preeh ITE eH wQ Permanent . magnet movmg cml
. | \ 4 instrument works on e
(@ ¥WADCW (a) OnlyD.C.
(b) ¥FHFACT (b) Only AT,
© ACH DC 3w © Both A &D.C.
(d) SETURr

(d) On Eddy current o
P.T.O.
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(b) waw

(c) =

(d) T WE gEm W vl
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(a) 7 FeEA
(by iR
(c) 3y v
) W T

?mmemm
(a) et Bt

(b) FHewm i

(c) avediet-udet fify

@ #w

TR WHR & BT ST B e
I A

(a) W ST ¥

(b) TR TR B

(c) % ST ¥

(d) W T W ITHT ¥

Wt gaE oo Foge T W wE
a&%ﬁmmmt

(a) W=

(b) wiEEmwR

(¢c) Towa aRonfir
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2041
A set of readings has a wide range -
and therefore it has .
(a) High Accuracy
(b) Low Accuracy
(¢) Low Precision
(d) High Precision

From the point of view of safety, the

resistance of earthing electrode

should be

(a) Low

() Medium

(c) High |

(d) It's value of resistance does not
affect safety.

For getting best results, indicating
instruments should have damping

(@ Underdamped

() Ctitical damped

(¢) Over damped

(d) None of the above

Best method of measurement of low
resistance is

(a) Kelvin Double Bridge

(8) Wheatstone Bridge

(c) Voltmeter-Ammeter method

(d) Megger

Dynamometer type of instruments

finds its major use as

(a) Standard instrument only

(b) Transfer instrument only

(¢) Indicating instrument only

(d) Standard and transfer
instrument

For range extension of permanent
magnet moving coil type ammeter,
we use

(a) Shunt

() Multiplier

(¢) Potential transfer

(d) None of the above
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_10. wa favermdt 7 S9E e S W

11.

12.

13,

14.

fawe W wQ & o e oer ¥, @
v fote =) feafer & evoer ity oo &
et g wer s el & 2

(a) <ga SRy

(b) SEwRT

(c) 9

(d =

TR WER ¥ T, Preed @ &
warder 1 e W @ o, e i
w1 = 12213.8°, V = 27.8 £29.7°
| JEder B uRyER w9

(a) 2.317 ohm

(b) 0.634 ohm

(c) 2.22 ohm

(d -2.220hm

oot vt & s e woe B @
FA & foe uftry poehrdt s st &

(@) wfFaRd

(b) PHARH
(c) WA aRY
) vty AR

Fder & e uiRen ¥ B ST
Foret s ¥ SRemest T 3 e § ¢

(@) P Qamie

(b) W Q-

(c) =T QTR

(@ P 3w Qb

gt o 3 fer o F fewar men &
(a) Weaw &

(b) ¥afordg :

(c) Weitames dder ¥

(@ d@F™g oo

&)

- 10.

11

12.

13

14.

2041
When a potentiometer is used for
measurement of voltage of an
unknown source, the¢ . power
consumed in the circuit of the
unknown source under null
conditions
(a) is very high
(b) ishigh
(©) issmall
(d) iszero

The readings of a polar type A.C.
potentiometer  when  measuring
reactance of a coil are I = 12.£13.8°,
V= 27 8.£29.7°. The reactance of the
coil is '

(a) 2317 ohm

(b) 0.634 ohm
(¢) 2.22ohm
(d -2.22ohm

In A.C. potentiomgters to reduce
ele¢tric heating effegt, the resistance
coil wire is made from

(a) Manganin
(b) Eureka
(c) Platinum
(d) * Aluminiuim

Maxwell's  inductance-¢apacitance
bridge is uséd for measurement of
inductance of

(a) low Q-coil

(b) medium Q-coil

(c) high Q-coil

(d) low and medium Q-coils

Frequency can be measured by using
(a) Maxwell’s Bridge |

(b) Schering Bridge

(c) Heaviside Campbell Bndge

(d) Wein’s Bndge

P.T.O,
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15.

16.

18.

19.

W TRl gRrEs SO GUSH AU 45 W

 iieite wRRY 500 it 8, e qof Wt

frde & A o)1 ® WA 100 A

wibar & a7 g = A Wi @
A B

(a) 5 micro watt

() 5 milli watt

(©) 5 watt

(d) 0.5 microwatt -

TR #1 IR TR TR Wt
mﬁmtﬁmmﬁﬁ#
N ERT ¥

(a) Pt w i

(b) Ve guRA & e
() W& afgwen qx e ¥ g
(@) I A & il

1. demet d weRT w I R A

ot e v F g 2
(a) vraftrr RN

(b) s S Wi
© @aE@®)TA

(d) i @ =t

(@ e S s |
(b) ma@mmﬁﬁa

(c) e A
(d) e =i S

e W ¥ R e @ g
Sl T IuanT AL B ¥ FiRE

v

(a) Wm

(b) ~ e T Renie
(c) JeauRIwWE
(@) Iw wi

15.

16.

2041.

A PMMC meter has an internal
resistance of 500 ochm and the current
required for its full scale deflection is
100 micro amper¢. The power
consumed by the meter is

(r) S5 micro watt

(b) 5 milli watt

(€) 5watt

(d) 0.5 micro watt

Electronic  voltmeter which use

- rectifiers employ negative feedback.

- This is done

17,

18.

19.

..

(a) to increase the overall gain

(®) to improve stability

(c) to overcome non-linedrity of
diodes

(d) none of the above

An aquadag is used in a CRO to
collect | .
(a) Primary electrons

(b) Secondary emission electrons
(c) Both (a)and (b)

(d) None of the above

The source of emission of electrons
ina CRT is .
(8) PN junction diode

(b) a bariym and strontium oxide

coated cathode
(c) accelerating anodes
(d) post accelerating anodes

Purely mechanical ihstruments cannot
be used for dynamic measurements
because they have

(2) highinertia -

(b) large time constant

" (c) higher response time

(d) all of the above
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(@) i ot e ot &
 (b) e e g s A
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22,

} tq

(a)  Tieloes goeeh § wrr

() Fuerkwrden

() Felas e qu * ais%@r
R o AR o

(d) It F A g ot

2. % W orgh g &, W 4R
T S e ?

(@) R I W

(b) e R 45° W
(©) i 3 & 90° T
(@ R0 W

24. Pt # @ W hee geEgER Y ?
() AN
(b) WW '
(@) Whregegge

S 3
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20.

21.

22

23.

2041

The usage of electrortic instruments is
becoming more extensivé because -

“they have

(@) & high sensitivity and reliabihty

(b) = fast = response and
compatibility =~ with  digital
computers

(c) the capability to respond to
signals from remote places

(d) * all of the above

A transducer converts

(a) mechanical energy into

~ electrical energy

(b) mechanical displacement into
electrical energy

(c) electrical - enetgy  into
mechanical enetgy

(d) one form of energy into another
form of energy '

The burden of C.T. is expressed in
terms of

(a) Secondary winding current

(b) VA rating of transformer -

(c) Voltage, current and power
factor of secondary winding
circuit.

(d Noue of the above

In strain gauge, torque transducers,

" the strain gauges should be mountedv

at
(a) 0° to the shaft axis
(b) at 45° to shaft axis
(€) 90° to shaft axis
(d) 60° to shaft axis
Which of the following is an active
transducer ?
(a) Strain gauge
(b) Resistance transducer
(c) Photovoltaic transducer
(d) Inductive transducer
P.T.O.
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©25. WH CT @ W 100/5 A ¥ | zHa

T 4N & qEEA T ol o AW
T 1 AF 0.6 A & auy 50 FaEe

& vy ¥ ot R Rt W) Seiqe g
(@ 20.12 () 202
(c) 20 (d) 200

26. AT WMIE WA A ¥ I BRI H

A 4 &

@ 1+24php ()
) 1+2 (d)
T8t p — Wferrear

- R-uRRY

Y — OIS IR

D — & o1 w1 sy

27. ity fesvemrdt oy SqrET ARy @R W
(a) Qe =1 7 I
(b) i 1 T
(c) Rt w1 9 F=A
(d Fewamwg

1+2ARR
1+2ADD

28. WitWY eitier # 30 °C W ARRY 5
3 T4 60 °C W 6.5 3T & | IR
s yited= SFaM /AT WG, & 45 °C
W iR I YU @ A e
(a) 0.009°C  (b) 0.0087/°C
(c) 0.0085°C  (d) 0.01°C

29. WURT ZiEegER W YA R @
T &t W & 2
(@ lcm ) 1mm
(¢ 1pm d 1x1012pm

30. PR &t STErT Ret e S dar i 2
(a) Pt 99 & Ry
(b) T WA & SR
(c) o= %W a1 FERTH ¥ Uy
(d) IR S HE T

25.

26.

217.

28,

29.

30.

2041

A CT has a rating of 100/5 A. its
magnetising and loss components of
the exciting current are 1 A and 0.6 A
respectively and secondary winding
burden is purely resistive, its
transformation ratio at rated current is
(@ 20.12 (b) 202

() 20 (@ 200

For wire wound strain gauge, the
approximate value of gauge factor is

(@ 1+2Aplp () 1+2ARR
© 1+2v (d 1+2ADD
Where p - resistivity

R - Re¢sistance

v — Poisson’s ratio
D — Diameter of strain gauge

In a resistance potentiometer high
value of resistance leads to

(a) high value of sensitivity

() low value of sensitivity

(c) low value of non-linearity

(d) low value of error

The resistance of a thermometer is
5 ohm at 30 °C and 6.5 ohm at 60 °C.
Using linear approximation, the value
of resistance temperature coefficient
at45 °C

(a) 6.009°C
(c) 0.0085/°C

®) " 0.0087/°C
@ 0.01°C

What is the order of minimum
displacement that can be measured
with capacitive transducers ?

(@ lcm () 1mm

(© 1lum @@ 1x102m

A megger is used for measurement of

(a) low valued resistance

(b) medium valyped resistance

(c) high value or insulation
resistance e

‘ (d) none of the above
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foraifa v fiT e [aihm#aiﬁ:m

Time allowed : Three Hours] o [Maximum Marks : 70
g, (i) I T S & iy & @ fret aler 3 gov R 4
Note : Question No. 1 is compulsory, answer any five questions from the remaining.

(i) W 5T & Qi 9P ) AR T i ET i |
Solve all parts of a question consecutively together.

(iii) WedHE HRT T TR 7S @ ARAT WG |
Start each question on a fresh page.

(iv) ﬁ#wm#msﬁ#ﬁaﬁ#wmﬁmh

Only English version is valid in case of difference in both the languages

1. () @ WU % @S SRS SR |
Draw the block diagram of Instrumentation system.
(i) T v o § SRR W W 1
Differentiate between ‘accurcy’ and ‘Precision’.

(iii) AT T T
What is Piezoelectric ¢ffect ?
(iv) S SO G STEEEE TR Feror e |
Write the riccessary general equation for bridge balance.
(v) RO SR B aRite SR |
Define the transformation ratio. - (2x5)

2, (1) ORRE % aiieor @t aiye ol g |
Describe in detail the ¢lassification of transducer.
i) =R ariaRet % fafte = Rt =t wmeEng |
Explain different working principles of capacitive transducers. = (6x2)

) P.T.0,
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Describe thé working principle, construction and application of following Instniments
with neat diagram.

3,

@

(i)

@.

(ii)

@

(i)

)
@)

@
(id)

® ‘ - 2041

W % TR IO (B U TER)

Moving Iron type Instrument (any ohe type)

ERCRCC R e ‘ 4 |

PMMC Instrument o (6x2)

A o e o Wt w5 o #R |
Describe working of Megger with the help of neat diagram

‘Wwﬁaaﬁmﬁaﬁhm%maﬁw@mm%ﬁml

Describe the Wein's bridge for frequency measurement with the help of neat
diagram. (6x2)

[P e SV RST S G—

Explain the construction and working of electromagnetic flowmeter.
wrEif svedet & andt = avtT AR |

Describe the advantage of electronic voltmeter. o (6x2)

fret ity = o % Ry SR s g ) e & e |

Explain in details Kelvin’s double bridge for measurement of low reistance.

W s w2 s, F R 3w dife | |
What is CRO ? Write the various application of CRO. (6%2)

Foreger o s bt meoT i apifeor R |

" Classify electrical measuring instruments with examples.

s e 3 T e g I ) e ot AP 1 o s e
o e S |

Explain the construction of bonded type wire wound strain gauge Derive the

. expression for gauge factror. , (6x2)

maawﬂwww

Write short notes on any two of the following :

@

@)

YRR 2T AT

Dynamometer type Wattmeter
frmewmy TR

D.C. Techo generator

(ili) AT

Ohmmeter 4‘ (6



